CALCULUS BC

WORKSHEET 3 ON LIMITS

Find the limit.  Draw a sketch for each problem .  Do not use your calculator.
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On problems 19 - 24:

(a)  find  
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(b)  find  
[image: image20.wmf](

)

lim

x

fx

®-¥


(c)  identify all horizontal asymptotes.

Use your graphing calculator on problems 23 and 24.
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On problems 25 - 28,

(a)  find the vertical asymptotes of  
[image: image27.wmf](

)

fx


(b)  describe the behavior of  
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  to the left and right of each vertical asymptote.

Use your calculator on problems 25 - 27.
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